
clgjfo{ gub df}Hbft ljkGg ju{ If]q shf{
k|yd qodf;
1 a}+s ckm sf&df)*f} lnld^]* k|yd 25,873.75          –
2 g]kfn a+unfb]z a}+s lnld^]* k|yd – 1,850,178.75       

bf];|f] qodf;
1 a}+s ckm sf&df)*f} lnld^]* bf];|f] 69,720.00         –
2 g]kfn a+unfb]z a}+s lnld^]* bf];|f] – 607,477.50        
3 l;$fy{ a}+s lnld^]* k|yd 146,947.50        –

l;$fy{ a}+s lnld^]* bf];|f] 41,230.00          –
4 k|fOd sdl;{on a}+s lnld^]* k|yd 55,680.00         –
5 g]kfn O)*li^«on P)* sdl;{on a}+s lnld^]* k|yd 18,956.25          –

t];|f] qodf;
1 g]kfn a+unfb]z a}+s lnld^]* t];|f] – 868,350.00        
2 l;$fy{ a}+s lnld^]* t];|f] 17,741.25          –
3 gljn a}+s lnld^]* k|yd 75,036.25          –
4 n"lDjgL a}+s lnld^]* k|yd – 21,612.50          
5 /fli^«o jfl)fHo a}+s lnld^]* k|yd – 12,485,463.75     

rf}yf] qodf;
1 /fli^«o jfl)fHo a}+s lnld^]* k|yd 182,147.50        –
2 g]kfn a}+s lnld^]* k|yd 1,508.75           –
3 s[lif ljsf; a}+s lnld^]* k|yd 8,505.00          –

s[lif ljsf; a}+s lnld^]* bf];|f] 6,317.50           –

cfly{s jif{ 2065÷66 df g]kfn /fi^« a}+saf^ æsÆ ju{sf Ohfhtkq k|fKt ;+:yfx?nfO{ 
nufOPsf] xhf{gfsf] ljj/)f

qm=;+= a}+ssf] gfd k^s
xhf{gf /sd -?=_


